

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: February 1, 2022

Progress Estimate N	Number	Contract ID Prime Contracto	210122-G03 or Mera Excavatin		Pay Period Start Pay Period End		2, 2022 y 1, 2022	Original Contract Amount Net Change Order Amount Current Contract Amount	\$761,337.61 (\$33,365.24) \$727,972.37		
Approval Date									By User		
February 2, 2022			Generated and	Approved	(and should be co	onsidered	d Draft) at	the Project Office Level by	sorenj1		
February 2, 2022	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by										
February 3, 2022		Reviewed and Approved at the Central Office Controllers Office Level									
Original Completion Date Current Completion Date Actual Completion Date % of Curre									Complete		
December 1, 202	21	Decembe	er 1, 2021					99.87%			
	Contract	Informational Dat	tes		Mile	stones					
Date Description	Original	Completion Date	Current Complet	tion Date	No Milestones	Exist for	Contract				
Acceptance Date											
Awarded Date	February	3, 2021	February 3, 2021								
Letting Date	January 2	22, 2021	January 22, 2021								
Notice to Proceed Date	March 8,	2021	March 8, 2021								
Work Began Date											

Contract Total Pay	For Estimate No. 11				
		This Estimate	Previous	To Date	
210122-G03					
	Total Posted Items Pay	\$45,997.75	\$680,993.43	\$726,991.18	
	Gross Item Adjustments	\$0.01	\$2,673.74	\$2,673.75	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$683,667.17	\$729,664.93	
Contract Total Pay	/able This Estimate:	\$45,997.76			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7P3107B	0020	2022010	REMOVAL OF IMPROVEMENTS	LS	\$9,141.040	-0.5	(\$4,570.52)
	0021	2022010	REMOVAL OF IMPROVEMENTS	LS	\$4,571.020	1	\$4,571.02
	0800	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	SQYD	\$6.550	0.1	\$0.66
	5002	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$16.050	1,063.6	\$17,070.78
	5003	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$90.000	264.1	\$23,769.00
	5004	1046001	VALUE ENGINEERING	LS	\$5,156.810	1	\$5,156.81
Project J7F	<mark>23107В - Т</mark>	otal					\$45,997.75
Overall - To	otal						\$45,997.75

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

		ents This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7P3107B	0800	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)			Reference Item Price Adjustment Index Adjustment Type applied is FUEL	0.1	\$0.13	\$0.01
	0100	MISC.	Material			-618.4	\$46.92	(\$29,015.33)
	0100	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user sorenj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.	618.4	\$46.92	\$29,015.33
Total								\$0.01

Revision 4/1/2020 Page 1 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Informatio	n
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J7P3107B	FAF 266-1(16)	Bridge replacement	266	LAWRENCE	over Billies Creek 0.	1 mile west of Halltown	
Totals by Jo	b Numbers	i					
J7P3107B		Item Pay tem Adjustmer		tem Pay	This Estimate \$45,997.75 \$0.01 \$45,997.76	Previous \$680,993.43 \$2,673.74 \$683,667.17	To Date \$726,991.18 \$2,673.75 \$729,664.93
			tments		\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00

Revision 4/1/2020 Page 2 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J7P3107B, Item 4099905, Project Item Line Number 0100, Material Set 409990596, Material 0401BPPMBP1 - Plant Mix for Bit Pavement BP-1, Acceptance Action Generic AspLow is insufficient.	Waiting on Jeff City to reinstate asphalt mix in CRE2O sheet.	sorenj1	Overridden
Estimate Exception Type: Insufficient Materials: Project J7P3107B, Item 4099905, Project Item Line Number 0100, Material Set 409990596, Material 0401BPPMBB - Plant Mix Bituminous Base, Acceptance Action Generic AspLow is insufficient.	Waiting on Jeff City to reinstate asphalt mix in CRE2O sheet.	sorenj1	Overridden

Revision 4/1/2020 Page 3 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Note: Posted Q	luantities a	ind Value	s are ba	ased on Re	port Generated date and can differ from the posted amo	unt at tne	time the l	estimate was	s Gener	ated.		
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210122-G03	J7P3107B	0001	0010	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	1.00	\$1,803.36	\$1,803.36
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	-1.00	0.00	LS	0.00	\$9,141.04	\$0.00
		0001	0021	2022010	REMOVAL OF IMPROVEMENTS	0.00	1.00	1.00	LS	1.00	\$4,571.02	\$4,571.02
		0001	0030	2035000	UNCLASSIFIED EXCAVATION	860.00	0.00	860.00	CUYD	860.00	\$5.89	\$5,065.40
		0001	0040	2035500	EMBANKMENT IN PLACE	1,428.00	0.00	1,428.00	CUYD	1,428.00	\$10.22	\$14,594.16
		0001	0050	2036000	COMPACTING EMBANKMENT	716.00	0.00	716.00	CUYD	716.00	\$8.27	\$5,921.32
		0001	0060	2063000	CLASS 3 EXCAVATION	1.00	0.00	1.00	CUYD	1.00	\$225.42	\$225.42
		0001	0070	2071000	LINEAR GRADING CLASS 1	0.70	0.00	0.70	STA	0.70	\$4,804.97	\$3,363.48
		0001	0080	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	1,683.00	-1,064.60	618.40	SQYD	618.40	\$6.55	\$4,050.52
		0001	0090	3105002	GRAVEL (A) OR CRUSHED STONE (B)	43.00	0.00	43.00	TONS	43.00	\$36.40	\$1,565.20
		0001	0100	4099905	MISC.OPTIONAL PAVEMENT	1,682.40	-1,064.00	618.40	SQYD	618.40	\$46.92	\$29,015.33
		0001	0110	6096030A	FURNISHING TYPE 3 ROCK DITCH LINER	42.00	0.00	42.00	CUYD	42.00	\$38.90	\$1,633.80
		0001	0120	6096043	PLACING TYPE 3 ROCK DITCH LINER	42.00	0.00	42.00	CUYD	42.00	\$21.47	\$901.74
		0001	0130	6096050	BEDDING MATERIAL FOR ROCK DITCH LINER	15.00	0.00	15.00	CUYD	15.00	\$30.06	\$450.90
		0001	0140	6097000	ROCK LINING	3.00	0.00	3.00	CUYD	3.00	\$114.04	\$342.12
		0001	0150	6113020	FURNISHING TYPE 2 ROCK BLANKET	1,691.00	0.00	1,691.00	CUYD	1,691.00	\$40.67	\$68,772.97
		0001	0160	6113040	PLACING TYPE 2 ROCK BLANKET	1,691.00	0.00	1,691.00	CUYD	1,691.00	\$2.67	\$4,514.97
		0001	0170	6161005	CONSTRUCTION SIGNS	599.00	-10.50	588.50	SQFT	588.50	\$7.04	\$4,143.04
		0001	0180	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	-2.00	2.00	EA	2.00	\$41.06	\$82.12
		0001	0190	6161009	FLAG ASSEMBLY	2.00	0.00	2.00	EA	2.00	\$23.46	\$46.92
		0001	0200	6161031	TYPE III MOVEABLE BARRICADE WITH LIGHTS	12.00	0.00	12.00	EA	12.00	\$175.95	\$2,111.40
		0001	0210	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	7.00	0.00	7.00	EA	7.00	\$3,401.70	\$23,811.90
		0001	0220	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$55,870.25	\$55,870.25
		0001	0230	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,730.00	0.00	1,730.00	LF	1,730.00	\$0.67	\$1,159.10
		0001	0240	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	758.00	0.00	758.00	LF	758.00	\$0.77	\$583.66
		0001	0250	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	2,437.00	0.00	2,437.00	SQYD	2,437.00	\$1.52	\$3,704.24
		0001	0260	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$6,451.50	\$6,451.50
		0001	0270	7250318A	18 IN. PIPE GROUP B	7.00	0.00	7.00	LF	7.00	\$99.76	\$698.32
		0001	0280	7320018A	18 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$528.97	\$528.97
		0001	0290	8052000A	SEEDING - WARM SEASON MIXTURES	0.70	0.00	0.70	ACRE	0.56	\$7,008.68	\$3,924.86
		0001	0300	8061005	ROCK DITCH CHECK	270.00	-250.00	20.00	LF	20.00	\$8.78	\$175.60
		0001	0310	8061016	SEDIMENT REMOVAL	28.00	0.00	28.00	CUYD	28.00	\$14.21	\$397.88
		0001	0320	8061019	SILT FENCE	1,030.00	-308.00	722.00	LF	722.00	\$3.52	\$2,541.44
		0001	0330	8061050	TYPE C BERM	241.00	0.00	241.00	LF	241.00	\$6.49	\$1,564.09
		0010	0340	6061060	MGS GUARDRAIL	200.00	0.00	200.00	LF	200.00	\$24.34	\$4,868.00
		0010	0350	6061069	MGS BRIDGE APPROACH TRANSITION SECTION	4.00	0.00	4.00	EA	4.00	\$3,225.75	\$12,903.00
		0010	0360	6063014	(REGULAR/NO CURB) TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$2,873.85	\$11,495.40
		0070	0370	2061000	CLASS 1 EXCAVATION	75.00	0.00	75.00	CUYD	75.00	\$12.02	\$901.50
		0070	0380	2160500	REMOVAL OF BRIDGES	1.00	0.00	1.00	LS		\$19,805.85	\$19,805.85
		0070	0390	5031011A	BRIDGE APPROACH SLAB (MINOR ROAD)	126.00	0.00	126.00	SQYD	126.00	\$221.73	\$27,937.98
		0070	0400	7021212	GALVANIZED STRUCTURAL STEEL PILES (12 IN)	220.00	-38.00	182.00	LF	182.00	\$136.76	\$24,890.32
		0070	0410	7026000	PRE-BORE FOR PILING	210.00	-43.00	167.00	LF	167.00	\$91.49	\$15,278.83
		0070	0420	7027000	PILE POINT REINFORCEMENT	10.00	0.00	10.00	EA	10.00	\$111.44	\$1,114.40
						30.70	0.00	30.70	CUYD	30.70	\$760.50	\$23,347.35
		0070 0430 7032003 CLASS B CONCRETE (SUBSTRUCTURE)						30.70	0010	30.70	ψ100.00	φ23,341.35

Revision 4/1/2020 Page 4 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
210122-G03	J7P3107B	0070	0440	7034219A	TYPE D BARRIER	260.00	0.00	260.00	LF	260.00	\$117.15	\$30,459.00
		0070	0450	7039905	MISC.SLAB ON CONCRETE NU-GIRDER (GFRP REBAR)	350.00	0.00	350.00	SQYD	350.00	\$328.59	\$115,006.50
		0070	0460	7056022	NU 43, PRESTRESSED CONCRETE NU-GIRDER	404.00	0.00	404.00	LF	404.00	\$328.17	\$132,580.68
		0070	0470	7071000	CONDUIT SYSTEM ON STRUCTURE	1.00	-1.00	0.00	LS	0.00	\$7,106.14	\$0.00
		0070	0480	7151001	VERTICAL DRAIN AT END BENTS	2.00	0.00	2.00	EA	2.00	\$882.91	\$1,765.82
		0070	0490	7161000	PLAIN NEOPRENE BEARING PAD	4.00	0.00	4.00	EA	4.00	\$194.82	\$779.28
		0070	0500	7161003	LAMINATED NEOPRENE BEARING PAD (TAPERED)	4.00	0.00	4.00	EA	4.00	\$374.29	\$1,497.16
		0001	5001	1046001	VALUE ENGINEERING	0.00	1.00	1.00	LS	1.00	\$1,776.50	\$1,776.50
		0001	5002	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	0.00	1,063.60	1,063.60	SQYD	1,063.60	\$16.05	\$17,070.78
		0001	5003	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	0.00	264.10	264.10	TONS	264.10	\$90.00	\$23,769.00
		0001	5004	1046001	VALUE ENGINEERING	0.00	1.00	1.00	LS	1.00	\$5,156.81	\$5,156.81
	Project J7I	P3107B - To	otal Value	Posted to D	Date as of Report Generated Date							\$726,991.16
210122-G03 Ove	erall - Total \	/alue Poste	d to Date	as of Repor	t Generated Date							\$726,991.16

Revision 4/1/2020 Page 5 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J7P3107B

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0020	2022010	REMOVAL OF IMPROVEMENTS	1/7/22	1/7/22	-0.50	LS	Entire job. Removal of payment to be added to change order 0003.	0				
0021	2022010	REMOVAL OF IMPROVEMENTS	1/26/22	1/27/22	1.00	LS	1247+12 - 1249+05 and 1250+49 - 1251+21 along RTE. 266.	0				
0080	3040143	TYPE 1 AGGREGATE FOR BASE (4 IN. THICK)	1/7/22	1/7/22	0.10	SQYD	Additional payment for previously installed Base.	0				
5002	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	1/26/22	1/27/22	1,063.60	SQYD	1244+80 - 1247+12 and 1250+49 - 1253+44 along RTE. 266.	0				
5003	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	1/26/22	1/27/22	264.10	TONS	1244+80 - 1247+12 and 1250+49 - 1253+44 along RTE. 266.	0				
5004	1046001	VALUE ENGINEERING	1/26/22	1/27/22	1.00	LS	Contractor's VE savings payment.	0				

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 4/1/2020 Page 6 of 9



Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks		
				Туре							
J7P3107B	0030	UNCLASSIFIED EXCAVATION	Price FUEL		6	Nov 1, 2021	SYSTEM	\$94.94	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		
					7	Nov 15, 2021	SYSTEM	\$145.51	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		
				- Total				\$240.45			
			Price FUEL - T	otal				\$240.45			
	0030 -	Total						\$240.45			
	0040	EMBANKMENT IN PLACE	Material		7	Nov 16, 2021	SYSTEM	(\$14,594.16)			
					8	Dec 2, 2021	SYSTEM	(\$14,594.16)			
				- Total				(\$29,188.32)			
			Material - Tota	l				(\$29,188.32)			
			MaterialCredit		8	Dec 2, 2021	SYSTEM	\$14,594.16			
					9	Dec 16, 2021	SYSTEM	\$14,594.16			
				- Total				\$29,188.32			
			MaterialCredit	- Total				\$29,188.32			
			Price FUEL		7	Nov 15, 2021	SYSTEM	\$469.81	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		
				- Total				\$469.81			
			Price FUEL - T	otal				\$469.81			
	0040 -	Total						\$469.81			
	0050	050 COMPACTING EMBANKMENT	Material		7	Nov 16, 2021	SYSTEM	(\$5,921.32)			
					8	Dec 2, 2021	SYSTEM	(\$5,921.32)			
				- Total				(\$11,842.64)			
			Material - Tota MaterialCredit		Material - Tota	ı				(\$11,842.64)	
					8	Dec 2, 2021	SYSTEM	\$5,921.32			
					9	Dec 16, 2021	SYSTEM	\$5,921.32			
				- Total				\$11,842.64			
			MaterialCredit	- Total				\$11,842.64			
	0050 -	Total						\$0.00			
	0800	TYPE 1 AGGREGATE FOR BASE (4 IN.	Price FUEL		8	Dec 2, 2021	SYSTEM	\$87.18	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		
		THICK)			11	Feb 1, 2022	SYSTEM	\$0.01	Reference Item Price Adjustment Index Adjustment Type applied is FUEL		
				- Total				\$87.19			
			Price FUEL - T	otal				\$87.19			
	0080 - 0100	Total MISC. SCRUB	Material		11	Feb 2,	SYSTEM	\$87.19 \$29,015.33	This adjustment offsets the original system-generated Material Payment		
		SEAL				2022			Estimate Item Adjustment (0002) due to user sorenj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.		
					11	Feb 1, 2022	SYSTEM	(\$29,015.33)			
				- Total				\$0.00			
			Material - Tota					\$0.00			
			Other Item Adjustment	ACAD		Dec 2, 2021	WILLAM	\$55.13	This AC Adjustment represents 154.60 SY of SP125 20-43.		
					8	Dec 2, 2021	WILLAM	\$759.72	This AC Adjustment represents 463.80 SY of BB18-22.		
				ACAD - Tota	al			\$814.85			
				FUEL		Dec 2, 2021	WILLAM	\$1,061.45	This Fuel Adjustment represents 618.4 SY (340.12 tons) of 10" Asphalt laid.		
				FUEL - Tota	I			\$1,061.45			



Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3107B	0100	MISC. SCRUB SEAL	Other Item Ad	justment - To	otal			\$1,876.30	
	0100 -	- Total						\$1,876.30	
	0320	SILT FENCE	Material		3	Sep 16, 2021	SYSTEM	(\$2,541.44)	
				- Total				(\$2,541.44)	
			Material - Tota	ıl				(\$2,541.44)	
			MaterialCredit		4	Sep 30, 2021	SYSTEM	\$2,541.44	
				- Total				\$2,541.44	
			MaterialCredit	- Total				\$2,541.44	
	0320 -	· Total						\$0.00	
	0340	MGS GUARDRAIL	Construction Stockpile		8	Dec 2, 2021	SYSTEM	(\$2,758.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$2,758.00)	
			Construction		otal			(\$2,758.00)	
				otockpiic it		A 1	CVCTEM		Decimant Fetimenta Itana Adiciaturant managetad Stanlanda Tunnantian
			Construction Stockpile STMI	Takal	1	Apr 1, 2021	SYSTEM	\$2,758.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			O. v. st.	- Total				\$2,758.00	
			Construction	Stockpile STI				\$2,758.00	
			Material		8	Dec 2, 2021	SYSTEM	(\$4,868.00)	
				- Total				(\$4,868.00)	
			Material - Tota	ı				(\$4,868.00)	
			MaterialCredit		9	Dec 16, 2021	SYSTEM	\$4,868.00	
				- Total				\$4,868.00	
			MaterialCredit	- Total				\$4,868.00	
	0340 -	- Total						\$0.00	
	0350	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		8	Dec 2, 2021	SYSTEM	(\$6,780.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		(INLO/NO COND)		- Total				(\$6,780.00)	
			Construction	Stockpile - To	otal			(\$6,780.00)	
			Construction Stockpile		1	Apr 1, 2021	SYSTEM	\$6,780.00	Payment Estimate Item Adjustment generated Stockpile Transaction
			STMI	- Total				\$6,780.00	
			Construction	Stockpile ST	MI - Total			\$6,780.00	
			Material		8	Dec 2, 2021	SYSTEM	(\$12,903.00)	
				- Total				(\$12,903.00)	
			Material - Tota	1				(\$12,903.00)	
			Material - Tota MaterialCredit	ı	9	Dec 16, 2021	SYSTEM	(\$12,903.00) \$12,903.00	
				l - Total	9		SYSTEM		
				- Total	9		SYSTEM	\$12,903.00	
	0350 -	- Total	MaterialCredit	- Total	9		SYSTEM	\$12,903.00 \$12,903.00 \$12,903.00	
	0350 -	Total TYPE A CRASHWORTHY	MaterialCredit MaterialCredit	- Total	9		SYSTEM	\$12,903.00 \$12,903.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		TYPE A CRASHWORTHY END TERMINAL	MaterialCredit MaterialCredit Construction	- Total		2021 Dec 2,		\$12,903.00 \$12,903.00 \$12,903.00 \$0.00	Payment Estimate Item Adjustment generated Stockpile Transaction
		TYPE A CRASHWORTHY	MaterialCredit MaterialCredit Construction Stockpile	- Total - Total - Total	8	2021 Dec 2,		\$12,903.00 \$12,903.00 \$12,903.00 \$0.00 (\$6,304.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
		TYPE A CRASHWORTHY END TERMINAL	MaterialCredit MaterialCredit Construction Stockpile	- Total - Total - Total	8 otal	Dec 2, 2021	SYSTEM	\$12,903.00 \$12,903.00 \$12,903.00 \$0.00 (\$6,304.00) (\$6,304.00)	
		TYPE A CRASHWORTHY END TERMINAL	MaterialCredit MaterialCredit Construction Stockpile	- Total - Total - Total Stockpile - To	8	2021 Dec 2,		\$12,903.00 \$12,903.00 \$12,903.00 \$0.00 (\$6,304.00) (\$6,304.00) \$6,304.00	Payment Estimate Item Adjustment generated Stockpile Transaction Payment Estimate Item Adjustment generated Stockpile Transaction
		TYPE A CRASHWORTHY END TERMINAL	MaterialCredit MaterialCredit Construction Stockpile Construction Stockpile STMI	- Total - Total - Total Stockpile - To	8 otal	Dec 2, 2021	SYSTEM	\$12,903.00 \$12,903.00 \$12,903.00 \$0.00 (\$6,304.00) (\$6,304.00) \$6,304.00 \$6,304.00	
		TYPE A CRASHWORTHY END TERMINAL	MaterialCredit MaterialCredit Construction Stockpile Construction Stockpile STMI Construction	- Total - Total - Total Stockpile - To	8 otal 1	Dec 2, 2021 Apr 1, 2021	SYSTEM	\$12,903.00 \$12,903.00 \$12,903.00 \$0.00 (\$6,304.00) (\$6,304.00) (\$6,304.00) \$6,304.00 \$6,304.00	
		TYPE A CRASHWORTHY END TERMINAL	MaterialCredit MaterialCredit Construction Stockpile Construction Stockpile STMI	- Total - Total - Total Stockpile - To	8 otal	Dec 2, 2021	SYSTEM	\$12,903.00 \$12,903.00 \$12,903.00 \$0.00 (\$6,304.00) (\$6,304.00) \$6,304.00 \$6,304.00	



Line Item Adjustments by Estimate

Contract ID:190621-F01

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3107B	0360	TYPE A	Material - Tota					(\$11,495.40)	
		CRASHWORTHY END TERMINAL (MASH)	MaterialCredit		9	Dec 16, 2021	SYSTEM	\$11,495.40	
				- Total				\$11,495.40	
			MaterialCredit	- Total				\$11,495.40	
	0360 -	Total						\$0.00	
	0430	CLASS B CONCRETE (SUBSTRUCTURE)	Material		5	Oct 15, 2021	SYSTEM	(\$23,347.35)	
		(SUBSTRUCTURE)		- Total				(\$23,347.35)	
			Material - Tota					(\$23,347.35)	
			MaterialCredit		6	Nov 1, 2021	SYSTEM	\$23,347.35	
				- Total				\$23,347.35	
			MaterialCredit	- Total				\$23,347.35	
	0430 -	Total						\$0.00	
	0440	TYPE D BARRIER	Material		8	Dec 2, 2021	SYSTEM	(\$30,459.00)	
				- Total				(\$30,459.00)	
			Material - Total					(\$30,459.00)	
			MaterialCredit		9	Dec 16, 2021	SYSTEM	\$30,459.00	
				- Total				\$30,459.00	
			MaterialCredit	- Total				\$30,459.00	
	0440 -	Total						\$0.00	
	0450	MISC. CONCRETE CONSTRUCTION	Material		6	Nov 1, 2021	SYSTEM	\$40,416.57	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user sorenj1 overridding Payment Estimate Exception 1 on the current Payment Estimate.
					6	Nov 1, 2021	SYSTEM	(\$40,416.57)	
					7	Nov 16, 2021	SYSTEM	\$109,420.47	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user sorenj1 overridding Payment Estimate Exception 3 on the current Payment Estimate.
					7	Nov 16, 2021	SYSTEM	(\$109,420.47)	
				- Total				\$0.00	
			Material - Tota					\$0.00	
	0450 -	Total						\$0.00	
J7P3107B -	- Total							\$2,673.75	
Overall - To	otal							\$2,673.75	